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QUESTION 1

A DBA suspects a leaf-level index pointer does not point to the proper data pages.Which command can be used to
verify this?

A. dbcc indexalloc

B. dbcc tablealloc

C. dbcc checkstorage
D. dbcc checktable

Correct Answer: D

QUESTION 2

What is the maximum rows per page for an APL table on a server configured with an 8K page size?
A. 166

B. 256

C. 337

D. 512

E. 678

Correct Answer: B

QUESTION 3

Which of the following statistics is stored in the sysstatistics table ?
A. Leaf count

B. OAM page count

C. Row count

D. Total density

Correct Answer: D

QUESTION 4

If there are 8 duplicate key values referenced by a single APL index page, how many times is that key stored on that
index page?
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E.8

Correct Answer: E

QUESTION 5

Which of the following are true of multiple temporary databases (tempdbs)? (Choose 2)

A. Only the system tempdb is overwritten with the model database when ASE boots.

B. All temporary databases must reside on the master device.

C. The selection of a temporary database may be dynamically change during a session.

D. A temporary database chosen for a session remains in effect for the duration of that session.

E. Users bound to the default group will be assigned to a temporary database using a round-robin selection policy.

Correct Answer: BD
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